华南师范大学成人高等教育试卷
《大学英语》第四册考查测试题

班别：__________  姓名：__________  学号：__________  分数: __________

注意事项：所有答案均须填写在答题纸（Answer Sheet）上。
Part Ⅰ  Vocabulary & Structures: choose the best answer to complete the sentence. (20 points) 

1. 
The professor suggested that students______free access to Turnitin software before turning their work in.

A) given



B) were given

C) be given


D) should given

2. 
Someone proposed that a meeting___to discuss the problem next week

A) to be held


B) is held 


C) will be held

D) be held

3. 
Regulations require that students _____ at least 90% of the lectures.

A) should be attend 
B) should attend 

C) attends 


D) had attended

4. 
China had become part of their discussions, ____employment, energy, environment, or health. 

A) be it



B) it were


C) they are


D) be them

5. 
I will never forget him ___at me through his glass. 

A) was peering

B) peering


C) looking over

D) was looking over

6. 
__ the opportunity, I would worked much harder and try to make it the best. 

A) Given



B) Having given

C) Giving


D) Should give

7. 
His mother__, he had to stay home to look after her. 

A) was ill


B) being ill


C) having ill


D) is ill

8. 
He came into the room, his ears __ with cold.

A) were red


B) having red


C) to be red


D) red

9. 
The news___he had landed on the moon spread all over the school campus.

A) that



B) which



C) /




D) what

10. 
They lives in a room ___  window opens to the south. 

A) that



B) which



C) who



D) whose

11. 
She got up ____ she was able to catch the first bus. 

A) too early to

B) such early that 
C) so early that

D) so early to 

12.
 She went to Spain __  the fact that her doctor had told her to rest. 

A) in despite of

B) despite of


C) in spite


D) in spite of

13. 
They are determined to set out__ the bad weather.

A) though


B) although 


C) in spite 


D)despite

14. 
The government intends to impose a further tax __ wines.

A) on



B) in



C)
for



D) at

15. 
Two employers agreed to speak to us ____  they not be named.

A) on condition 

B) in that 


C)one condition 

D) on condition that

16. 
Leave the vegetables to simmer, and ______  bring a large part of water to a boil.

A) while 


B) in the meanwhile
C) in the meantime 
D) meantime

17. 
__  harder, you might have become someone. 
A) Had you studied
B) If you studied

C) Were you studied
D) If you should study
18. 
Without music, it _  a dull world
A) will be 


B)would be 


C) to be 


D) is
19. 
Coping and cheating will never be stopped ___  lectures stop spoon-feeding them.

A) if not



B) if don’t


C) unless


D) unless that

20. 
___ take advantage of them, you cannot let yourself __ destroyed by failure.

A) TO,  was


B) In order that,  be
C) To,  be


D) In order to, was

Part Ⅱ Cloze (30 points)

Ruth Deech, head of the OIA which deals with students’ 21 , said that the way 22  education was now packaged and delivered just like any other product had dulled students’ sense of inquiry and spirit of adventure. One result was  23 they were more tempted than  24 generations to cut and paste work from the Internet and take it  25 their own, 26 to explore and find their own answers to questions. “There is a culture of expectation 27  today’s students. They just end up 28  complex things to three key points. Students need to be told that their own thoughts about a subject are very important. They need to 29 to respond in their own way 30  downloading, cutting and pasting,” she said.

21. 
A) complain


B) complaints 

C) education


D) educating

22. 
A) which



B) by which


C) in which


D) in that

23. 
A) that



B) what



C) which



D) in which

24.
A) before


B) ago



C) next



D) previous

25.
A) be



B) as



C) was



D) being

26.
A) rather than

B) rather



C) instead of


D) instead

27. 
A) among


B) between


C) like



D) just like

28. 
A) reduce


B) reducing


C) to reduce


D) reduced

29.
A) were challenged
B) challenge


C) have challenged
D) be challenged

30. 
A) to



B)  /



C) instead of


D) instead

It is obvious that an additional child would impose heavy financial burdens 31  most families. Is it  32 that Australians are reluctant to have more children? The government’s own figure have 33  the problems: to have children, families need full-time jobs and full-time homemakers. Australia’s official unemployment rate is 34 six percent, but the real rate, 35  the unemployed who have been put on disability benefits, and the young unemployed who have become students, and those 36   for just a few hours a week, is probably 37  the official figure. 38 , the collapse of Australian manufacturing has caused the tax burden 39  even more heavily away from companies onto individuals, and particularly, with 40  taxes on alcohol, tobacco, and gambling, the burdens falls most heavily on low income families.

31.
A) to



B) in



C) upon



D)  / 

32.
A) no wonder


B) some wonder

C) any wonder

D) little wonder

33.
A) emphasis


B) emphasize

C) highlight


D) highlighted

34.
A) about



B) round



C) aloud



D) over than

35. 
A) added


B) adding


C) addition


D) additional

36. 
A) employing


B) have employed
C) are employed

D) employed

37. 
A) two



B) second


C) twice



D) two time

38. 
A) in addition


B) in addition to

C) in additionally

D) in additionally to

39. 
A) shift



B) to shift


C) to be shifting

D) to be shifted

40. 
A) increase


B) increased


C) increasingly

D) to increase

Part III. Reading Comprehension. Choose the best answer, according to the passages below.(30 points)
Passage 1 ：Questions 41 to 45 are based on the following passage:

Nonverbal (非语言的) communication has to do with gestures, movements and closeness of two people when they are talking. The scientists say that those gestures, movements and so on have meaning which words do not carry.

For example, the body distance between two speakers can be important. North Americans often complain that South Americans are unfriendly because they tend to stand close to the North American when speaking, while the South American often considers the North American to be "cold" or "distant" because he keeps a greater distance between himself and the person he is speaking to. The "eye contact" provides another example of what we are calling nonverbal communication. Scientists have observed that there is more eye contact between people who like each other than there is between people who don't like each other. The length of time that the person whom you are speaking to looks at your eyes indicates the amount of interest he has in the things you are talking about.

On the other hand, too long a gaze can make people uncomfortable. The eyes apparently play a great part in nonverbal communication. Genuine warmth or interest, shyness or confidence can often be seen in the eyes. We do not always consider a smile to be a sign of friendliness. Someone who is always smiling, and with little apparent reasons, often makes us uneasy.

41. According to the passage, nonverbal communication__________.

A. is a method often used by people who cannot speak

B. can tell something that words cannot

C. can be used to talk with people who cannot bear

D. is less used than words
42. The South American__________.

A. tends to keep a distance between himself and the person he is speaking to

B. usually stands close to the person he is talking to

C. is often unfriendly when spoken to

D. is often cold and distant when speaking

43. Which of the following is NOT true?

A. Less eye contact suggests distance in relation.

B. The longer one looks at you, the more interest he has in you.

C. There is more eye contact between people who like each other.

D. Shorter eye contact shows more interest in what one is talking about

44. Too long a gaze__________.

A. may upset people being looked at

B. shows one's great confidence

C. indicates one's interest in the talk

D. tells you how friendly one is

45. Constant smiling without apparent reason__________.

A. is a sign of one's friendliness

B. is a sign of one's unfriendliness

C. makes people feel happy

D. makes people feel uncomfortable
Passage 2 ：Questions 46 to 50 are based on the following passage: 

After a busy day of work and play, the body needs to rest. Sleep is necessary for good health. During this time, the body recovers from the activities of the previous day. The rest that you get while sleeping enables your body to prepare itself for the next day. 

There are four levels of sleep, each being a little deeper than the one before. As you sleep, your muscles relax little by little. Your heart beats more slowly, and your brain slows down. After you reach the fourth level, your body shifts back and forth from one level of sleep to the other. 

Although your mind slows down, from time to time you will dream. Scientists who study sleep state that when dreaming occurs, your eyeballs begin to move more quickly ( although your eyelids are closed). This stage of sleep is called REM, which stands for rapid eye movement. 

 If you have trouble falling asleep, some people recommend breathing very slowly and very deeply. Other people believed that drinking warm milk will help make you drowsy. There is also an old suggestion that counting sheep will put you to sleep! 

46. A good title for this passage is_____. 

A. Sleep 




B. Good Health 

C. Dreams 


D Work and Rest 

47. The word drowsy in the last paragraph means____. 

A. sick




B. stand up 


C. asleep 


D. a little sleepy 

48. This passage suggests that not getting enough sleep might make you____. 

A. dream more often 

B. have poor health 
C. nervous 


D. breathe quickly 

49. During REM,_____. 

A. your eyes move quickly 
B. you dream 


C. you are restless 

D. both A and B 

50. The average number of hours of sleep that an adult needs is _____. 

A. approximately six hours 
B. around ten hours 
C. about eight hours 
D. not stated here
Part  IV Writing (20 points)
Directions: You are to write 100~120 words about “city life” according to the information provided below. 1. 许多人愿意生活在城市。 2. 有些人却喜欢居住在郊区。  3. 我的看法。
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